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The goal : to achieve the
required level of energy
efficiency hi‘-’"

n=1_
E -indicator of the energy efficiency

of the country £—>5 000 000
En -the energy efficiency of the object

m - count of objects
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E= 5000 000 expected value given the
specified parameters
if t->40 min, E->5 000 000

E=E[X]

E[X]= /xde(:c);a: €R
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For achievement

of the goal, you should

place the sources and
consumers of power

150000

The electric grid

between sources and
consumers of power

User bala
+ Earned balance
- Spent balance




i 0 of 5000000

You can earn
money by selling
Attention! power or answering
questions

Energy at basic level is sold
automaticaly.

Energy at advanced level is sold
after signing the contract.

This is time
o achieve the goa




state with the aid of an electric/,

For the contract,
click this image and
: 4 earn money

Properties can be
changed to improve
the object

Click on the object to
see its properties and
the properties of the

Objects that are near o
electric grid.

each other are

automatically :

connected. Improving the objects
leads increase in

energy efficiency
index

Good luck to you!



